General Physics
Exam #2 Equation Sheet

Dr. Pogo

Displacement, Speed,

Velocity, and Acceleration
Ax = x, — x, (similarly for Ay, etc.)
- A x,—x

vy, =—= (similarlyforv_, etc.)
At 1, -1, yIorY,

total distance
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s=4/v; v

v, =slope of x vst plot
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a =slopeof v vst plot
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Constant Acceleration
X =x+v, At + % a At?

Ve =V, ta At

v?x = v; +2a, (xf - xl.)

Xp =X, +%(vix +vfx)At

Projectile Motion
(assumes +y is upwards)
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g =+9.8E2
s

v,
Oy
tang, =—
v()x
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Voy = ‘Vo‘ sin),
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(destination and source

at sameheight)

Work, Energy, Power

W, =F -Ax-cos@ (note cos180° =-1)

W =KE, - KE,

KE = lmv2
2
P= Ez F-v
At
PE,, =mgy, if +y is upwards
E =KE + PE,
E,=E +W ., ibugmiys SO

KE, + PE, = KE, + PE, + W,

—2,all but gravity

Momentum & Impulse
p=mv

YF-At=Ap
ZFX-Atzm(vfx—va)
p,=p, ifXF=0

J=XF At

1D Elastic Collisions
y, =, 2
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Vectors :
A ASeA Az Forces Gravity
=AX+AY+AL Namean objector PG

A:‘A‘: /Af+A)2+A~2 groupof objects !!!! P

A LF, =ma,, XF =ma, G= 6.67><1(T“—an
f=arctan| — W=mg (down)
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CircularMotion
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(constant speed)

Lors= rA@  (distance traveled Af@in radians)
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T=2x (orbits)
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=— towards the centerof thecircle




